

Ocean County Board of Commissioners

OFFICE OF THE OCEAN COUNTY COMMISSIONERS

Director Barbara Jo Crea
Deputy Director Gary Quinn
Commissioner Virginia E. Haines
Commissioner John P. Kelly
Commissioner Frank Sadeghi

101 Hooper Avenue Toms River, New Jersey 08754-2191 (732)929-2005 (732)505-1918

Board Meeting Agenda

Date: December 4, 2024 - 4:00 PM

Location: Administration Building

Room 119

101 Hooper Avenue Toms River, NJ 08754

Agenda: Awarding a Contract for the furnishing and delivery of COMPLETED TRAFFIC SIGNS to National Highway Products, Inc., the lowest qualified bidder. (B2024-177)

Official Resolution			2	02	400	18	17		
Meeting Date			12/04/2024						
Introduced Date				2/0)4/2	024	4		
Adopted Date				2/0)4/2	024	4		
Agenda Item				-6					
CAF#			Г						
Purchase Req. #			E	320	24-	177	7		
Result			Adopted						
COUNTY COMMISSIONER	PRES.	ABS.		MOVE	SEC	AYE	NAY	ABST.	
Crea	~					~			
Quinn	~					~			
Haines	V			>		~			
Kelly	~				~	~			
Sadeghi	~					~			

I HEREBY CERTIFY THAT THIS DOCUMENT IS A TRUE, COMPLETE AND ACCURATE COPY OF THIS RESOLUTION, ADOPTED BY OCEAN COUNTY BOARD OF COMMISSIONERS, NJ AT THE MEETING REFERENCED THEREON

Clerk Of The Board

Res-Pa:k.6-2

CONTRACT NO. MUST BE ON ALL PAPERS, DOCUMENTS, INVOICES, VOUCHERS

52024-17 RESOLUTION.

December 4, 2024

WHEREAS, on October 16, 2024, pursuant to legal advertisements therefor, sealed bids were received for furnishing and delivery of COMPLETED TRAFFIC SIGNS, County of Ocean, State of New Jersey; and

WHEREAS, at the advertised time, responses were received from the following

Name and Adress of Bidder

bidders:

National Highway Products, Inc. 301 Riverside Drive Millville, NJ 08332 (856) 692-7572

Lightle Enterprises of Ohio, LLC P.O. Box 329 Frankfort, Ohio 45628 (740) 998-5363

Name and Adress of Bidder

Blink Marketing, Inc., dba Blink Signs 1925 St. Clair Avenue NE Cleveland, Ohio 44114 (216) 503-2568

Traffic Safety Service, LLC 601 Hadley Road South Plainfield, NJ 07080 (908) 561-4800

; and

WHEREAS, after the receipt and examination of same, the County Purchasing Agent has now recommended to this Board that the lowest qualified bid, according to specifications, in each instance, be accepted, namely that of NATIONAL HIGHWAY PRODUCTS, INC.

NOW, THEREFORE, BE IT RESOLVED by the BOARD OF COMMISSIONERS of the COUNTY OF OCEAN, STATE OF NEW JERSEY, as follows:

1. The Director and Clerk of this Board are hereby authorized and directed to enter into contracts for furnishing and delivery of Completed Traffic Signs for the County of Ocean, for the contract period from date of award through December 3, 2025, a period of one (1) year or until delivery is complete unless otherwise stated. The County reserves the right to extend the term of the contract pursuant to N.J.S.A. 40A:11-15.

A. NATIONAL HIGHWAY PRODUCTS, INC for two hundred, seventy-one (271) items, to wit:

ITEM NOS. 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20, 21, 22, 23, 24, 25, 26, 27, 28, 29, 30, 31, 32, 33, 34, 35, 36, 37, 38, 39, 40, 41, 42, 43, 44, 45, 46, 47, 48, 49, 50, 51, 52, 53, 54, 55, 56, 57, 58, 59, 60, 61, 62, 63, 64, 65, 66, 67, 68, 69, 70, 71, 72, 73, 74, 75, 76, 77, 78, 79, 80, 81, 82, 83, 84, 85, 86, 87, 88, 89, 90, 91, 92, 93, 94, 95, 96, 97, 98, 99, 100, 101, 102, 103, 104, 105, 106, 107, 108, 109, 110, 111, 112, 113, 114, 115, 116, 117, 118, 119, 120, 121, 122, 123, 124, 125, 126, 127, 128, 129, 130, 131, 132, 133, 134, 135, 136, 137, 138, 139, 140, 141, 142, 143, 144, 145, 146, 147, 148, 149, 150, 151, 152, 153, 154, 155, 156, 157,

Introduced of Adopted on: Official Resolution#: 2024001817

December 4, 2024 December 4, 2024

DECEMBER 4, 2024

158, 159, 160, 161, 162, 163, 164, 165, 166, 167, 168, 169, 170, 171, 172, 173, 174, 175, 176, 177, 178, 179, 180, 181, 182, 183, 184, 185, 186, 187, 188, 189, 190, 191, 192, 193, 194, 195, 196, 197, 198, 199, 200, 201, 202, 203, 204, 205, 206, 207, 208, 209, 210, 211, 212, 213, 214, 215, 216, 217, 218, 219, 220, 221, 222, 223, 224, 225, 226, 227, 228, 229, 230, 231, 232, 233, 234, 235, 236, 237, 238, 239, 240, 241, 242, 243, 244, 245, 246, 247, 248, 249, 250, 251, 252, 253, 254, 255, 256, 257, 258, 259, 260, 261, 262, 263, 264, 265, 266, 267, 268, 269, 270 and 271.

For a Total Lump Sum Award (Item Nos. 1 - 271) of \$140,395.29.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

- 2. Payments for the equipment and supplies to be acquired by this contract shall be made upon the approval of vouchers submitted by the successful bidders in accordance with the requirements of the Board of Commissioners and subject to the Board of Commissioners customary procedures. Delivery shall be made upon receipt of a Purchase Order issued by the Ocean County Department of Purchase, upon which delivery locations and needed quantities shall be indicated.
- 3. Funds for these services shall be available within the following funding sources: Engineering O.E.
- 4. The contract number must be placed on all papers, documents, invoices and vouchers pertaining to said contract, the number being B2024-177.

BE IT FURTHER RESOLVED that certified copies of this Resolution shall be made available to the County Auditor, Department of Purchasing, Department of Finance, Engineering and the successful bidders.

Introduced on Adopted on: Official Resolution#: 2024001817

PRICE TABLES

COMPLETED TRAFFIC SIGNS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
1	R1-1 Stop, White on Red 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	20	EA	\$35.41	\$708.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
2	R1-1 Stop, White on Red 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	200	EA	\$35.33	\$7,066.00		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARC
3	R1-1 Stop White on Red 36" x 36" Aluminum Alloy Gauge080/5052 H38 Facing-ASTM Type XI	20	EA	\$49.88	\$997.60		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARC
4	R1-1 Stop, White on Red 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing- ASTM Type IX	300	EA	\$48.23	\$14,469.00		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARG
² / ₅	R1-1 Stop, White on Red 48" x 48" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	10	EA .	\$83.92	\$839.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARG
6	R1-1 Stop, White on Red 48" x 48" Aluminum Alloy Gauge080/5052 H38 Facing ASTM Type XI	5	EA	\$90.44	\$452.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARG

Introduced on: December 4, 2024 Adopted on: IONAL HEECEMBER 48, 2024 CTS, INC] RESPONSE DOCUMENT REPORT Official Riesel (1004) #1 2024 TOTAL REPORT

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
7	R1-1 Stop, White on Red 18" x 18" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type IX	5	EA	\$12.11	\$60.55		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
8	R1-4 All Way, White on Red 18" x 6" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI		EA	\$6.54	\$32.70	·	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
9	R1-4 All Way, White on Red 18" x 6" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type IX	20	EA	\$6.39	\$127.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
10	R1-4 All Way, White on Red 30" x 15" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type IX	20	EA	\$16.82	\$336.40		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
14	R1-4 All Way, White on Red 30" x 15" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type XI	6	EA	\$18.59	\$111.54	,	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
No.	R1-5Bb Stop Here for Pedestrians Black on White / Red Stop Symbol 30" x 30" Aluminum Alloy Gauge080/5052 H38 Facing-ASTM Type IX	20	EA	\$34.54	\$690.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
X 3	R1-5BbR Stop Here for Pedestrians Black on White / Red Stop Symbol 30" x 30" Aluminum Alloy Gauge080/5052 H38 Facing-ASTM Type XI	20	EA	\$37.09	\$741.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
14	R1-5Bb Stop Here for Pedestrian 36" x 36" Black on White / Red Symbol Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	5	EA	\$49.89	\$249.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
15	R1-5BbR Stop Here for Pedestrian 36" x 36" Black on White / Red Symbol Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$53.40	\$267.00		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
16	R2-1 Speed Limit (XXX) Blank Speed White on Red 24" x 30" Aluminum Alloy Gauge80/5052 H38 Facing ASTM Type IX	150	EA	\$27.43	\$4,114.50		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
JA /	R2-1 Speed Limit (XXX) Blank Speed White on Red 24" x 30" Aluminum Alloy Gauge80/5052 H38 Facing ASTM Type XI	5	EA	\$29.67	\$148.35		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
18	R2-1 Speed Limit (XXX) Blank Speed White on Red 30" x 36" Aluminum Alloy Gauge80/5052 H38 Facing ASTM Type IX	150	EA	\$40.36	\$6,054.00		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
19	R2-1 Speed Limit (XXX) Blank Speed White on Red 30" x 36" Aluminum Alloy Gauge80/5052 H38 Facing ASTM Type XI	5	EA	\$44.50	\$222.50		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
20	R3-1 No Right Turn, Red and Black on White 24" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	40	EA	\$22.17	\$886.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
21/	R3-1 No Right Turn 24"x 24" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type XI	S	EA	\$23.49	\$117.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
72	R3-1 No Right Turn, 30" x 30" Aluminum Alloy Gauge080/5052 H38 Facing ASTM Type IX	10	EA	\$34.64	\$346.40		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
23	R3-1 No Right Turn 30" x30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$36.71	\$183.55		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
24	R3-1 No Right Turn, 36" x 36" Aluminum Alloy Gauge080/5052 H38 Facing ASTM Type IX	10	EA	\$49.89	\$498.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
25	R3-1 No Right Turn 36"x36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
26	R3-2 No Left Turn 24" x 24" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	40	EA	\$22.17	\$886.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
27	R3-2 No Left Turn 24" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type XI	5	EA	\$23.49	\$117.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
28	R3-2 No Left Turn 30" x 30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	10	EA	\$34.66	\$346.60		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
29	R3-2 No Left Turn 30"x30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA · ·	\$36.71	\$183.55		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
30	R3-2 No Left Turn 36" x 36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	10	EA	\$49.89	\$498.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
V	31	R3-2 No Left Turn 36"x36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
\	32	R3-3 No Turns, Black on White 24" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	40	EA	\$22.17	\$886.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
Į.	3 /3	R3-3 No Turns 24" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type XI	5 ີ	EA	\$23.49	\$117.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
l	34	R3-3 No Turns 36" x 36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	20	EA	\$49.89	\$997.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
1	35	R3-3 No Turns 36"x36" Aluminum Alloy Gauge080/5052 H38 Facing ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	36	R3-4 No U Turn, Red and Black on White 24" x 24" Aluminum Alloy Gauge- .080/5052 H-38 Facing-ASTM Type IX	40	EA	\$22.17	\$886.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

1	ine Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
	37	R3-4 No U Turn, Red and Black on White 24" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type XI	5	EA	\$23.49	\$117.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
4	38	R3-4 No U Turns 30" x 30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	10	· EA	\$34.64	\$346.40		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	39	R3-4 No U Turns 30"x 30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$36.71	\$183.55		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	40	R3-4 No U Turns 36"x 36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	5	EA	\$49.89	\$249.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	41	R3-4 No U Turns 36"x 36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	42	R3-7L Left Lane Must Turn Left, Black on White 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	30	EA .	\$33.97	\$1,019.10		BIDDING . ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
43	R3-7L Left Lane Must Turn Left 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type XI	5	EA	\$37.09	\$185.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
44	R3-7R Right Lane Must Turn Right, Black on White 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$33.97	\$679.40		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
45.	R3-7R Right Lane Must Turn Right 30" x 30" Aluminum Alloy Gauge- .080/5052 H-38 Facing - ASTM Type XI	5	EA	\$37.09	\$185.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
46	R3-9b Center Lane, Black on White 24" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	30	EA	\$32.29	\$968.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
47	R3-9b Center Lane, Black on White 24" x 36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$35.61	\$178.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
48	R3-18 U and Left Turn Prohibition 24" x 24" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	10	EA	\$22.17	\$221.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
49	R3-18 U and Left Turn Prohibition 24" x 24" Aluminum Alloy Gauge - .080/5052 H38 Facing - ASTM Type XI	5	EA	\$23.24	\$116.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
50	R3-18 U and Left Turn Prohibition 30" x 30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	5	EA	\$34.64	\$173.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
51/	R3-18 U and Left Turn Prohibition 30" x 30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$36.32	\$181.60		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
52	R3-18 U and Left Turn Prohibition 36" x 36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	5	EA	\$49.89	\$249.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
53	R3-18 U and Left Turn Prohibition 36" x 36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
54	R4-7 Keep Right, Black on White 24" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	50	EA	\$27.43	\$1,371.50	٠.	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
U	55	R4-7 Keep Right, Black on White 24" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$29.67	\$148.35		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
Ų	56 	R4-7 Keep Right, Black on White 36" x 48" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	5	EA	\$64.58	\$322.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	57	R4-7 Keep Right, Black on White 36" x 48" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$71.21	\$356.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
Ų	58	R5-1 Do Not Enter, Red on White 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	40	EA	\$33.97	\$1,358.80	ı	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	59	RS-1 Do Not Enter, Red on White 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$37.09	\$185.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
γ	50	R5-1 Do Not Enter, Red on White 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$49.89	\$997.80	·	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
61	R5-1 Do Not Enter, on White 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
62	R5-1a Wrong Way, Red on White 30" x 18" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	40	EA	\$20.78	\$831.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
63	R5-1a Wrong Way, Red on White 30" x 18" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$22.25	\$111.25		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
64	R5-1a Wrong Way, Red on White 36" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	40	EA	\$32.28	\$1,291.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
65	RS-1a Wrong Way, Red on White 36" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$35.61	\$178.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAŸS ARO
1	R5-1b Bicycle Wrong Way, Red on White 12" x 18" Aluminum Alloy Gauge- .080/5052 H-38 Facing-ASTM Type IX	30	EA	\$10.54	\$316.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

L	ine Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
	67	R5-1b Bicycle Wrong Way, Red on White 12" x 18" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$10.78	\$53.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	68	R6-1L One Way, Black on White 36" x 12" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type IX	30	EA	\$16.14	\$484.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	69	R6-1L One Way, Black on White 36" x 12" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type XI	5	EA	\$17.80	\$89.00		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	70	R6-1R One Way, Black on White 36" x 12" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type IX	100	EA	\$16.14	\$1,614.00		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	71	R6-1R One Way, Black on White 36" x 12" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type XI	5	EA	\$17.80	\$89.00		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
į	72	R7-1 No Parking Any Time, Red on White, Double Arrow, 12" x 18" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	30	EA	\$10.54	\$316.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
73	R7-1 No Parking Any Time, Red on White, Double Arrow, 12" x 18" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type XI	6	EA	\$10.78	\$64.68		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
74	R7-1 No Parking Any Time, Red on White, Right Arrow, 12" x 18" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	20	EA	\$10.54	\$210.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
75/	R7-1 No Parking Any Time, Red on White, Right Arrow, 12" x 18" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	6	EA	\$10.78	\$64.68		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
76	R7-1 No Parking Any Time, Red on White, Left Arrow, 12" x 18" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	20	EA	\$10.54	\$210.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
77	R7-1 No Parking Any Time, Red on White Left Arrow 12" x 18" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	6	EA	\$10.78	\$64.68		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
78	R7-4 No Standing Any Time, Red on White, Double Arrow, 12" x 18" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	30	EA	\$10.54	\$316.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
79	R7-4 No Standing Any Time, Red on White, Double Arrow, 12" x 18" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type XI	6	EA	\$10.78	\$64.68		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
80	R7-4 No Standing Any Time, Red on White, Right Arrow, 12" x 18" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	20	EA	\$10.54	\$210.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
81	R7-4 No Standing Any Time, Red on White, Right Arrow, 12" x 18" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	6	EA	\$10.78	\$64.68		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
82/	R7-4 No Standing Any Time, Red on White, Left Arrow, 12" x 18" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	20	EA	\$10.54	\$210.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
83	R7-4 No Standing Any Time, Red on White Left Arrow 12" x 18" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	6	EA	\$10.78	\$64.68		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
89	R9-3c Ride With Traffic, Black on White, 12" x 12" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	20	EA	\$7.48	\$149.60		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
V	85	R9-3c Ride With Traffic, Black on White, 12" x 12" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$8.32	\$41.60		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
\overline{\chi}	86	R10-11a No Turn On Red, Black on White, 24" x 30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	20	EA	\$27.43	\$548.60		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
Ų	87	R10-11a No Turn On Red, Black on White, 24" x30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$29.67	\$148.35		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
V	88	R10-11b No Turn On Red, Black on White, 24" x 24" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	20	EA	\$21.94	\$438.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	89	R10-11b No Turn On Red, Black on White, 24" x 24" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$23.49	\$117.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
V	/ 90	R10-11b No Turn On Red, Black on White, 30" x 30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	10	EA	\$33.97	\$339.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
V	91	R10-11b No Turn On Red, Black on White, 30" x 30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$37.09	\$185.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
L	/ 52	R11-2 Road Closed, Black on White, 48" x 30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	10	EA	\$54.35	\$543.50	,	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
L	9 3	R11-2 Road Closed, Black on White, 48" x 30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$59.34	\$296.70	,	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
l	94	R11-4 Road Closed to Thru Traffic, Black on White, 60" x 30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	10	EA	\$67.94	\$679.40	e .	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
l	95	R11-4 Road Closed to Thru Traffic, Black on White, 60" x 30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	. 5	EA	\$74.18	\$370.90	No.	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
V	96	R(NJ)7-4X Red On White Double Arrow 12" x 18" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	50	EA	\$10.54	\$527.00		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
V	97	R(NJ)7-4X Red On White Double Arrow 12" x 18" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$10.78	\$53.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
L	9 8	R(NJ)7-4L Red On White Left Arrow 12" x 18" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$10.54	\$210.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 . DAYS ARO
V	9 9	R(NJ)7-4L, No Stopping or Standing Red on White Left Arrow 12" x 18" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$10.78	\$53.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
L	100	R(NJ)7-4R No Stopping or Standing, Red on White Right Arrow, 12" x 18" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	10	EA	\$10.54	\$105.40		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
l	101	R(NJ)7-4R No Stopping or Standing, Red on White Right Arrow, 12" x 18" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$10.78	\$53.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
V	X 02	R(NJ)7-4X No Stopping or Standing, Red on White Double Arrow, 18" x 24" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	25	EA	\$16.14	\$403.50		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
V	103	R(NJ)7-4X No Stopping or Standing Red On White Double Arrow 18" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$17.80	\$89.00		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
N	/104	R(NJ)7-4R Red On White Right Arrow 18" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	12	EA	\$16.14	\$193.68		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
l	165	R(NJ)7-4R, No Stopping or Standing Red on White Right Arrow 18" x 24" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	6	EA	\$17.80	\$106.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
L	106	R(NJ)7-4L No Stopping or Standing, Red on White Left Arrow, 18" x 24" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	15	EA	\$16.14	\$242.10		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
l	167	R(NJ)7-4L No Stopping or Standing, Red on White Left Arrow, 18" x 24" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	25	EA	\$17.80	\$445.00		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
V	208	R7-8 Reserved Parking Legend-Green (retrorefl) White Symbol on Blue (retrorefl) Background - White (retrorefl) 12" x 18" (No Arrow) Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	30	EA	\$10.54	\$316.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
J	109	R7-8 Reserved Parking Legend-Green (retrorefl), White Symbol on Blue (retrorefl) Background 12" x 18" (No Arrow) Aluminum Alloy Gauge - .080/5052 H38, Facing - ASTM Type XI	6	EA	\$10.78	\$64.68		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
J	110	R(NJ)7-8A Penalty Plate, Black on White 12" x 10" (current penalty standard) Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX (used in conjunction with R7-8)	20	EA	\$6.42	\$128.40	,	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
λ	ın	R(NJ)7-8A Penalty Plate, Black on White 12" x 10" (current penalty standard) Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI (used in conjunction with R7-8)	6	EA	\$6.84	\$41.04		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
L	112	R9-3a No Pedestrian, Black on White, Red Circle / diagonal 24"x 24" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	30	EA	\$22.17	\$665.10		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
L	113	R9-3a No Pedestrian, Black on White, Red Circle /diagonal 24"x 24" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$23.49	\$117.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
L	114	R9-3bL Use Crosswalk, Black on White, 18"x 12" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	.30	EA	\$10.54	\$316.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

l	ine Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
	115	R9-3bL Use Crosswalk, Black on White, 18"x 12" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$10.78	\$53.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
V	116	R9-3bR Use Crosswalk, Black on White, 18"x12" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	30	EA	\$10.54	\$316.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
1	117	R9-3bR Use Crosswalk, Black on White, 18"x12" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$10.78	\$53.90	÷	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	118	R7-8b Van Accessible Legend-White (retrorefl), on Blue (retrorefl) Background Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX, Size 12"x6"	20	EA	\$4.48	\$89.60		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	119	R7-8b Van Accessible Legend-White (retrorefl), on Blue (retrorefl) Background Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI, Size 12"x6"	5	EA	\$4.74	\$23.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	120	R7-201 Tow-Away Zone Red on White, 12" x 6" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX		EA ·	\$4.48	\$89.60		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
V	121	R7-201 Tow-Away Zone Red on White, 12" x 6" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$4.74	\$23.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
L	122	R10-12 Left Turn Yield on Green (Symbol) Legends Black on White 24" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$27.43	\$548.60		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
L	123	R10-15 Turning Vehicles Stop for Pedestrians Top FYG Black Letters & Arrow Bottom White Type IX / Red Stop Symbol, Black Pedestrian Symbol, 30" x 30" Aluminum Alloy Gauge080/5052 H38, Facing - ASTM Type IX	20	EA	\$38.44	\$768.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
L	124	R10-15 Turning Vehicles Stop for Pedestrians Top FYG Black Letters & Arrow Bottom White Type XI / Red Stop Symbol, Black Pedestrian Symbol, 30" x 30" Aluminum Alloy Gauge080/5052 H38, Facing - ASTM Type XI	6	EA	\$38.44	\$230.64		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
٠ (125	R12-1 Weight Limit (XXX) Tons, Black on White 24" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$27.43	\$548.60		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
L	126	R12-1 Weight Limit (XXX) Tons, Black on White 24" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$29.67	\$148.35		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
127	W1-1R Turn Symbol, Black on Yellow 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type IX	10	EA	\$33.97	\$339.70		A 100 CO	30-45 DAYS ARO
128	W1-1R Turn Symbol, Black on Yellow 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type XI	5	EA	\$37.09	\$185.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
128	W1-1R Turn Symbol, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	10	EA	\$49.89	\$498.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
130	W1-1R Turn Symbol, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
181	W1-2R Curve Symbol, Black on Yellow 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type IX	10	EA	\$33.97	\$339.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
732	W1-2R Curve Symbol, Black on Yellow 30" x 30" Aluminum Alloy Gauge - .080/5052 H38 Facing - ASTM Type XI	5	EA	\$37.09	\$185.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
V	1/33	W1-2R Curve Symbol, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing - ASTM Type IX	10	EA	\$49.89	\$498.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
V	134	W1-2R Curve Symbol, Black on Yellow, 36" x 36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
V	1 35	W1-2L Curve Symbol, Black on Yellow 30" x 30" Aluminum Alloy GaugeQ80/5052 H38 Facing - ASTM Type IX	10	EA	\$33.47	\$334.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
V	136	W1-2L Curve Symbol, Black on Yellow 30" x 30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$37.09	\$185.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
C	137	W1-2L Curve Symbol, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	10	EA	\$49.89	\$498.90	,	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
V	138	W1-2L Curve Symbol, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
139	W1-4L Reverse Curve Symbol, Black on Yellow 30" x 30"Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	10	EA	\$33.97	\$339.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
140	W1-4L Reverse Curve Symbol, Black on Yellow 30" x 30"Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$37.09	\$185.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
141	W1-4L Reverse Curve Symbol, Black on Yellow 36" x 36"Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	10	EA	\$49.89	\$498.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
142	W1-4L Reverse Curve Symbol, Black on Yellow 36" x 36"Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$53.41	\$267.05	20	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
143	W1-4R Reverse Curve Symbol, Black on Yellow 30" x 30"Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	10	EA	\$33.97	\$339.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
144	W1-4R Reverse Curve Symbol, Black on Yellow 30" x 30"Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$37.09	\$185.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
145 /	W1-4R Reverse Curve Symbol, Black on Yellow 36" x 36"Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	10	EA	\$49.89	\$498.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
/146	W1-4R Reverse Curve Symbol, Black on Yellow 36" x 36"Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
/147	W1-8 Chevron, Black on Yellow 18" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$16.14	\$322.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
/148	W1-8 Chevron, Black on Yellow 18" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	6	EA	\$17.80	\$106.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
149	W1-8 Chevron, Black on Yellow 24" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$27.43	\$548.60		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
150	W1-8 Chevron, Black on Yellow 24" x 30 " Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$29.67	\$148.35		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
L	151	W2-1 Crossroad, Black on Yellow 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	10	EA	\$33.97	\$339.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
V	152	W2-1 Crossroad, Black on Yellow 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$37.09	\$185.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
Ĺ	153	W2-1 Crossroad, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$49.89	\$997.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
Į	154	W2-1 Crossroad, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
ļ	155	W2-2 Sideroad, Black on Yellow 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$33.97	\$679.40		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
١	156	W2-2 Sideroad, Black on Yellow 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$37.09	\$185.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
157	W2-2 Sideroad, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	15	EA	\$49.89	\$748.35		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
158	W2-2 Sideroad, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
159	W3-1 Stop Ahead, Black on Yellow Symbol White Border on Red Background 18" x 18" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	10	EA	\$16.17	\$161.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
160	W3-1 Stop Ahead, Black on Yellow Symbol White Border on Red Background 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$64.70	\$1,294.00		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
161	W3-1 Stop Ahead, Black on Yellow Symbol White Border on Red Background 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$59.71	\$298.55		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
162	W3-1 Stop Ahead, Black on Yellow Symbol White Border on Red Background 48" x 48" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	10	EA	\$115.02	\$1,150.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
L	163	W3-1 Stop Ahead, Black on Yellow Symbol White Border on Red Background 48" x 48" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$106.58	\$532.90	ř	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
L	164	W3-2 Yield Ahead, Yield Symbol White on Red, Border & Arrow Black on Yellow 36" x 36 " Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	10	EA	\$64.70	\$647.00		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
レ	165	W3-2 Yield Ahead, Yield Symbol White on Red, Border & Arrow Black on Yellow 36" x 36 " Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$59.96	\$299.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
ι	166	W3-2 Yield Ahead, Yield Symbol White on Red, Border & Arrow Black on Yellow 48" x 48 " Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	3	EA	\$115.02	\$345.06		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
L	167	W3-2 Yield Ahead, Yield Symbol White on Red, Border & Arrow Black on Yellow 48" x 48 " Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	3	EA	\$106.58	\$319.74		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
١	168	W3-3 Signal Ahead, Symbol, Black on Yellow 36" x 36 " Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	20	EA	\$63.41	\$1,268.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
169	W3-3 Signal Ahead, Symbol, Black on Yellow 36" x 36 " Aluminum Alloy Gauge 080/5052 H38 Facing - ASTM Type XI	.3	EA	\$62.14	\$186.42		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
170	W3-3 Signal Ahead, Symbol, Black on Yellow 48" x 48 " Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	20	EA	\$112.71	\$2,254.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
171	W3-3 Signal Ahead, Symbol, Black on Yellow 48" x 48 " Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	. 3	EA	\$104.46	\$313.38	·	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
172	W4-2L Lane Reduction, Black on Yellow 36" x 36" Aluminum Alloy Gauge- .080/5052 H-38 Facing-ASTM Type IX	20	EA	\$49.89	\$997.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
173	W4-2L Lane Reduction, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
11/4	W4-2R Lane Reduction, Black on Yellow 36" x 36" Aluminum Alloy Gauge- .080/5052 H-38 Facing-ASTM Type IX	20	EA	\$49.89	\$997.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
175	W4-2R Lane Reduction, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
176	W4-3L Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	5 .	EA	\$49.89	\$249.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
177	W4-3L Black on Yellow, 36" x 36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
178	W4-3R Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	5	EA	\$49.89	\$249.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
179	W4-3R Black on Yellow, 36"x 36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$53.41	\$267.05	-	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
180	W4-4p Black on Yellow, 30"x 18" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	5	EA	\$20.78.	\$103.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
181	W4-4p Black on Yellow, 30"x 18" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$22.25	\$111.25	·	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
182	W4-4p Black on Yellow, 48"x 24" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type IX	5	EA .	\$44.38	\$221.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
183	W4-4p Black on Yellow, 48"x 24" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	5	EA	\$47.49	\$237.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
184	W6-1 Divided Highway, Black on Yellow 36" x 36" Aluminum Alloy Gauge- .080/5052 H-38 Facing-ASTM Type IX	20	EA	\$49.89	\$997.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
185	W6-1 Divided Highway, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
186	W8-5 Slippery When Wet, Black on Yellow 30" x 30" Aluminum Alloy Gauge- .080/5052 H-38 Facing-ASTM Type IX	20	EA	\$33.97	\$679.40		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
187	W8-5 Slippery When Wet, Black on Yellow 30" x 30" Aluminum Alloy Gauge- .080/5052 H-38 Facing-ASTM Type XI	5	EA	\$37.09	\$185.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
188	W8-5 Slippery When Wet, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$49.89	\$997.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
189	W8-5 Slippery When Wet, Black on Yellow 36" x 36" Aluminum Alloy Gauge- .080/5052 H-38 Facing-ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
190	W8-13 Bridge Ices Before Roadway, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$49.89	\$997.80	ē	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
191	W8-13 Bridge Ices Before Roadway, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI		EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
192	W9-1 Right Lane Ends, Black on Yellow 36" x 36" Aluminum Alloy Gauge- .080/5052 H-38 Facing-ASTM Type IX	10	EA	\$49.89	\$498.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
193	W9-1 Right Lane Ends, Black on Yellow 36" x 36" Aluminum Alloy Gauge- .080/5052 H-38 Facing-ASTM Type XI		EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
194	W9-1 Left Lane Ends, Black on Yellow 36" x 36" Aluminum Alloy Gauge- .080/5052 H-38 Facing-ASTM Type IX	10	EA	\$49.89	\$498.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
195	W9-1 Left Lane Ends, Black on Yellow 36" x 36" Aluminum Alloy Gauge- .080/5052 H-38 Facing-ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
196	W11-1 Bike, Fluorescent Yellow Green 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$36.37	\$727.40		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
197	W11-1 Bike, Black on Fluorescent Yellow Green 30"x30" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	6	EA	\$39.51	\$237.06		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
198	W11-2 Pedestrian, Fluorescent Yellow Green 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	60	EA	\$36.37	\$2,182.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Lin	e ltem	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
V	199	W11-2 Pedestrian, Fluorescent Yellow Green 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	60	EA	\$39.51	\$2,370.60		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	200	W11-2 Pedestrian, Fluorescent Yellow Green 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	40	EA	\$52.37	\$2,094.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	201	W11-2 Pedestrian, Black on Fluorescent Yellow Green 36"x 36" Aluminum Alloy Gauge080/5052 H38 Facing - ASTM Type XI	6	EA	\$56.89	\$341.34		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	202	W11-3 Deer, Black on Yellow 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$33.97	\$679.40		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	203	W11-3 Deer, Black on Yellow 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$37.09	\$185.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	204	W11-7 Equestrian, Black on Yellow 30" x 30" Aluminum Alloy Gauge- .080/5052 H-38 Facing-ASTM Type IX	20	EA	\$33.97	\$679.40	v u	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
205	W11-7 Equestrian, Black on Yellow 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$37.09	\$185.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
206	W11-7 Equestrian, Black on Yellow 36" x 36" Aluminum Alloy Gauge- .080/5052 H-38 Facing-ASTM Type IX	10	EA	\$49.89	\$498.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
207	W11-7 Equestrian, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
208	W11-8 Emergency Vehicle, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	10	EA	\$49.89	\$498.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
209	W11-8 Emergency Vehicle, Black on Yellow 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$53.41	\$267.05		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
210	W12-1 Double Arrow, Black on Yellow 24" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	30	EA	\$22.17	\$665.10		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
211	W12-1 Double Arrow, Black on Yellow 24" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$23.74	\$118.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
2322	W12-1 Double Arrow, Black on Yellow 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	10	EA	\$33.97	\$339.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
213	W12-1 Double Arrow, Black on Yellow 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$37.09	\$185.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
214	W13-1 Advisory Plate (blank), Black on Yellow 18" x 18" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$12.47	\$249.40		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
215	W13-1 Advisory Plate (blank), Black on Yellow 18" x 18" Aluminum Alloy Gauge -:080/5052 H-38 Facing-ASTM Type XI	5	EA	\$13.35	\$66.75		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
216	W13-1 Advisory Plate (blank), Black on Yellow 24" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$22.17	\$443.40		BIDDING ORAFOL SPEC · SHEETS ATTACHED	30-45 DAYS ARO

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
V	217	W13-1 Advisory Plate (blank) Black on Yellow 24" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5 .	EA	\$23.74	\$118.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	218	W14-3 No Passing Zone, Black on Yellow 48" x 36" Aluminum Alloy Gauge- .080/5052 H-38 Facing-ASTM Type IX	20	EA	\$50.56	\$1,011.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
Y	219	W14-3 No Passing Zone, Black on Yellow 48" x 36" Aluminum Alloy Gauge- .080/5052 H-38 Facing-ASTM Type XI	5	EA	\$54.98	\$274.90	,	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	220	W15-1 Playground, Black on Yellow Fluorescent Green,36" x 36" Aluminum Alloy Gauge080/5052 H-38,Facing-ASTM Type IX	15	EA	\$52.37	\$785.55		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
J	221	W15-1 Playground, Black on Yellow Fluorescent Green, 36" x 36" Aluminum Alloy Gauge- 080/5052 H-38, Facing-ASTM Type XI	5	EA	\$56.89	\$284.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
ij	222	W16-1 Share the Road, Black on Fluorescent Yellow Green, 18" x 24" Aluminum Alloy Gauge080/5052 H-38, Facing-ASTM Type IX	15	EA	\$17.46	\$261.90		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
223	W16-1 Share the Road, Black on Fluorescent Yellow Green, 18" x 24" Aluminum Alloy Gauge080/5052 H-38, Facing-ASTM Type XI	5	EA	\$18.96	\$94.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
224	W16-7pL Diagonal Arrow (left), Black on Yellow Fluorescent Green, 24" x 12" Aluminum Alloy Gauge080/5052 H-38, Facing-ASTM Type IX	75	EA	\$12.15	\$911.25		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
225	W16-7pL Diagonal Arrow (Left) Black on Fluorescent Yellow Green, 12"x 24" Aluminum Alloy Gauge080/5052 H38, Facing - ASTM Type XI	5	EA	\$13.14	\$65.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
226	W16-7pL Diagonal Arrow (left), Black on Yellow Fluorescent Green, 30" x 18" Aluminum Alloy Gauge080/5052 H-38, Facing-ASTM Type IX	20	EA	\$22.78	\$455.60	,	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
221	W16-7pL Diagonal Arrow (Left) Black on Fluorescent Yellow Green, 30"x 18" Aluminum Alloy Gauge080/5052 H38, Facing - ASTM Type XI	5 .	EA	\$23.70	\$118.50		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
1/28	W16-7pR Diagonal Arrow (Right) Black on Fluorescent Yellow Green, 24"x 12" Aluminum Alloy Gauge080/5052 H38, Facing - ASTM Type IX	20	EA	\$12.15	\$243.00		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
229	W16-7pR Diagonal Arrow (Right) Black on Fluorescent Yellow Green, 24"x 12" Aluminum Alloy Gauge080/5052 H38, Facing - ASTM Type XI	5	EA	\$13.14	\$65.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
230	W16-7pR Diagonal Arrow (Right) Black on Fluorescent Yellow Green, 30"x 18 Aluminum Alloy Gauge080/5052 H38, Facing - ASTM Type IX	20	EA	\$22.78	\$455.60		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
231	W16-7pR Diagonal Arrow (Right) Black on Fluorescent Yellow Green, 30"x 18" Aluminum Alloy Gauge080/5052 H38, Facing - ASTM Type XI	·5	EA	\$23.70	\$118.50		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
232	W16-9p (Ahead), Black on Yellow Fluorescent Green, 24" x 12" Aluminum Alloy Gauge080/5052 H-38, Facing-ASTM Type IX	50	EA	\$12.15	\$607.50		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
233	W16-9p (Ahead) Black on Fluorescent Yellow Green, 24"x 12" Aluminum Alloy Gauge ~ .080/5052 H38, Facing - ASTM Type XI	5	EA	\$13.14	\$65.70		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
234	W16-9p (Ahead), Black on Yellow Fluorescent Green, 30" x 18" Aluminum Alloy Gauge080/5052 H-38, Facing-ASTM Type IX	20	EA	\$22.78	\$455.60		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
V	235	W16-9p (Ahead) Black on Fluorescent Yellow Green, 30"x 18" Aluminum Alloy Gauge080/5052 H38, Facing - ASTM Type XI	5	EA	\$24.62	\$123.10	p	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
V	236	W(NJ)25-2 Hidden Driveway, Black on Yellow 30" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	30	EA	\$33.97	\$1,019.10		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
L	237	W(NJ)25-2 Hidden Driveway Black on Yellow, 30"x 30" Aluminum Alloy Gauge 080/5052 H38 Facing - ASTM Type XI	5	EA	\$37.09	\$185.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
(2,218	M2-1 JCT, Blue on Yellow 21" x 15"Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	15	EA	\$11.98	\$179.70	,	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
l	239	M3-1 North, County Route Marker, Yellow on Blue 24" x 12" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$10.94 ·	\$218.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
1	240	M3-2 East, County Route Marker, Yellow on Blue 24" x 12" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$10.94	\$218.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
241	M3-3 South, County Route Marker, Yellow on Blue 24" x 12" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$10.94	\$218.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
242	M3-4 West, County Route Marker, Yellow on Blue 24" x 12" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	- 20	EA	\$10.94	\$218.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
243	M5-1 Left Turn, County Route Marker, Yellow on Blue, 21" x 15" Aluminum Alloy Gauge080/5052 H-38, Facing-ASTM Type IX	10	EA	\$11.98	\$119.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
244	M5-1 Right Turn, County Route Marker, Yellow on Blue, 21" x 15" Aluminum Alloy Gauge080/5052 H-38, Facing-ASTM Type IX	10	EA	\$11.98	\$119.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
245	M5-2 Left Turn, County Route Marker, Yellow on Blue, 21" x 15" Aluminum Alloy Gauge080/5052 H-38, Facing-ASTM Type IX	10	EA	\$11.98	\$119.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
246	M5-2 Right Turn, County Route Marker, Yellow on Blue, 21" x 15" Aluminum Alloy Gauge080/5052 H-38, Facing-ASTM Type IX	10	EA	\$11.98	\$119.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
247	M6-1 Left Arrow, County Route Marker, Yellow on Blue, 21" x 15" Aluminum Alloy Gauge080/5052 H-38, Facing-ASTM Type IX	10	EA	\$11.98	\$119.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
248	M6-3 Straight Arrow, County Route Marker, Yellow on Blue, 21" x 15" Aluminum AlloyGauge.080/5052 H-38, Facing-ASTM Type IX	10	EA	\$11.98	\$119.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
249	M6-4 Double Arrow, County Route Marker, Yellow on Blue, 21" x 15" Aluminum AlloyGauge.080/5052 H-38, Facing-ASTM Type IX	10	EA	\$11.98	\$119.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
250	M6-6 Straight and Right Arrow, County Route Marker, Yellow on Blue, 21" x 15" Aluminum Alloy Gauge080/5052 H-38, Facing-ASTM Type IX	10	EA	\$11.98	\$119.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
251	M6-7 Straight and Right Arrow, County Route Marker, Yellow on Blue, 21" x 15" Aluminum Alloy Gauge080/5052 H-38, Facing-ASTM Type IX	10	EA	\$11.98	\$119.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
252	OM1-1 Object Marker Yellow on Yellow 24" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$23.74	\$474.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
L	253	OM4-1 Object Marker Red on Red 24" x 24" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$23.74	\$474.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
\	254	OM-1L Object Marker, Black on Yellow 12" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$16.64	\$332.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
\	285	OM-1L Object Marker, Black on Yellow 12" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	6	EA	\$17.80	\$106.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
١	756	OM-1R Object Marker, Black on Yellow 12" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	30	EA	\$16.64	\$499.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
١	/257	OM-1R Object Marker, Black on Yellow 12" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	6	EA	\$17.80	\$106.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
\	258	S3-1 School Bus Stop Ahead (Symbol), Fluorescent Yellow Green, 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	50	EA	\$52.37	\$2,618.50		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
259	S3-1 School Bus Stop Ahead (Symbol) Fluorescent Yellow Green, 36"x36" Aluminum Alloy Gauge080/5052 H38, Facing - ASTM Type XI	5	EA	\$56.89	\$284.45		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
260	\$1-1 School Advance Warning, Fluorescent Yellow Green, 36" x 36" Pentagon, Aluminum Alloy Gauge080/5052 H-38 Facing, ASTM Type IX	50	EA	\$47.98	\$2,399.00	ŧ	BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
2 61	S1-1 School Advance Warning, Fluorescent Yellow Green, 36" x 36" Pentagon, Aluminum Alloy Gauge080/5052 H-38 Facing, ASTM Type XI	6	EA	\$51.43	\$308.58		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
262	S4-2 When Children Are Present (plate), Black on White 24" x 10" Aluminum Alloy Gauge -:080/5052 H-38 Facing-ASTM Type IX	20	EA	\$9.98	\$199.60		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
263	S4-2 When Children Are Present (plate), Black on White, 24" x 10" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	6	EA	\$10.23	\$61.38		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
264	S4-3 School (plate), Fluorescent Yellow Green, 24" x 8" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	40	EA	\$9.81	\$392.40		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
	265	S4-3 School (plate), Fluorescent Yellow Green, 24" x 8" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$10.37	\$51.85		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
Y	266	S4-5a (Blank) XXX MPH School Zone Ahead, Fluorescent Yellow Green, 36" x 36" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	10	EA	\$62.88	\$628.80		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	267	S4-5a (Blank) XXX MPH School Zone Ahead Fluorescent Yellow Green, 36"x 36" Aluminum Alloy Gauge080/5052 H38, Facing - ASTM Type XI	6	EA	\$64.22	\$385.32		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
4	268	S5-1 School Speed Assembly (When Flashing) (MPH XXX) Black on White/Fluorescent Yellow Green School, 24" x 48" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$50.36	\$1,007.20		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	269	S5-1 Mod School Speed Assembly (When Children are Present) (MPH XXX) Black on White/Fluorescent Yellow Green School, 24" x 48" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	20	EA	\$53.32	\$1,066.40		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO
	270	S5-2 End School Zone, Black on White 24" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type IX	40	EA	\$27.71	\$1,108.40		BIDDING ORAFOL SPEC SHEETS ATTACHED	30-45 DAYS ARO

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Comments:	Delivery, A.R.O.:
271	S5-2 End School Zone, Black on White 24" x 30" Aluminum Alloy Gauge080/5052 H-38 Facing-ASTM Type XI	5	EA	\$29.67	\$148.35			30-45 DAYS ARO
TOTAL		!			\$140,395.29			-